

Contract ID	Estimate Number	Pay Period Start	Pay Period End	Created Date	Estimate Type	
190315-D05	0001	See NTP Date	September 30, 2019	October 1, 2019	Progress	

Prepared For:

H.R. Quadri Contractors, LLC Box 73039 Highway 21 Van Buren, MO 63965 (573)945-2224FAX

Prepared By:

Jefferson City Project Office 5617 Red Eagle Drive Jefferson City, MO 65109

						Contract Information			
Project Number	Federal Proj. Number	Project Descriptio		County			Location of Work		
J5P3373	FAF-50-4(4	4) Scour repa	ir 50	GASCONADE	over the G	Gasconade River near Mount Sterling			
	I Contract		nge Order ount		Contract ount	% of Current Contract Amount Complete	Original Completion Date	Current Completion Date	Actual Completion Date
	\$248,522.00			\$	248,522.00	94.61%	December 1, 2019	December 1, 2019	
		Storm Water	nformation						
Project N	Project Number Authorized Acres Open Acres Disturbed		Acres						
J5P3373									

Contract Total Pay For Estimate No. 001									
		To Date	Previous	Т	nis Estimate				
190315-D05									
	Total Earnings	\$235,124.00	\$0.00	\$3	235,124.00				
	Total Adjustments	\$0.00	\$0.00	\$	0.00				
		<mark>\$235,124.00</mark>	\$0.00						
				Contract Total Payable This Estimate:	\$235,124.00				

Approval Date		By User
October 1, 2019	Generated and Approved (and should be considered Draft) at the Project Office Level by	rileyr1
October 1, 2019	Reviewed and Approved (and should be considered Draft) at the Resident Engineer Level by	rileyr1
October 2, 2019	Reviewed and Approved at the Central Office Controllers Office Level by	greggd1



Contra	ct ID Estimate Number	r Pay Period Start	Pay Period End	Created Date	Estimate Type		
90315-D05	0001	See NTP Date	September 30, 2019	October 1, 2019	Progress		
otals by Jo	b Numbers						
J5P3373		To Date	Previous	Th	is Estimate		
	Participating Non-Participating	\$235,124.00 \$0.00	\$0.00 \$0.00	\$235,124.00 \$0.00			
	Total Earnings	\$235,124.00	\$0.00	\$23	\$235,124.00		
	Stockpiled Materials	\$0.00	\$0.00	0	0		
	*Stockpiled Materials are included i *Line Item Adjustments*	n the Participating or Non-Participating am \$0.00	ounts*\$0.00	\$0.	\$0.00		
		in the Participating or Non-Participating a					
	Contract Adjustments	\$0.00	\$0.00	\$0.			
	Incentive	\$0.00	\$0.00	\$0.			
	Disincentive	\$0.00	\$0.00	\$0.			
	Liquidated Damages	\$0.00	\$0.00	\$0.			
	Overrun Adjustments	\$0.00	\$0.00	\$0.	\$0.00		
	Totals:	\$235,124.00	\$0.00				
			Project	Total Payable This Estimate:	\$235,124		

Contract Adjustment

No Data Available

Line Item Adjustment

No Data Available

Exceptions (Discrepancies) This Estimate Period

Discrepancy / Exception Description	User	Status
Estimate Exception Type: Insufficient Materials: Project J5P3373, Item 8061019, Project Item Line Number 0100, Material Set 806101996, Material 1011GXT2 - Geotextile Fabric for TempSiltFence (T2), Acceptance Action Generic 1011GXT2 is insufficient.	rileyr1	Acknowledged
Estimate Exception Type: Insufficient Materials: Project J5P3373, Item 8069903, Project Item Line Number 0110, Material Set 8069903, Material 0806EK - Erosion Control Materials, Acceptance Action Generic 0806EK is insufficient.	rileyr1	Acknowledged

Items Paid This Estimate Period

Project No.	Line No.	ltem Code	Description	Unit Price	Unit	Quantity Overrun Adjustment	Previous Total Paid Quantity	Current Quantity (This Estimate)	Quantity to Date	Amount This Estimate
J5P3373	0010	2035000		\$10.00	CUYD	0.00	0.00	2,495.00	2,495.00	\$24,950.00
	0030	2039901	MISC. HAUL ROAD	\$17,096.00	LS	0.00	0.00	0.75	0.75	\$12,822.00



Con	tract ID		Estimate Number	Pay Per	iod Star	rt	Pa	ay Period End			Created Date		Estimate
190315-D	190315-D05 0001		See NTP Date		September 30, 2019			Octobe	er 1, 2019		Progress		
tems Pa	id This	Estimat	e Period										
Project No.	Line No.	Item Code	Description	Unit I	Price	Unit	Quantity Overrun Adjustment	Previous Total Paid Quantity	Curren Quantit (This Estimate	у	Quantity to Date	Amount This Estimate	5
J5P3373	0040	6119907	MISC. CLASS VI RIP RAP	\$6	60.00	CUYD	0.00	0.00	2,933	3.00	2,933.00	\$175,980.00	
	0050	6161005		Ş	\$9.50	SQFT	0.00	0.00	96	6.00	96.00	\$912.00	
	0060	6161009		\$2	25.00	EA	0.00	0.00	2	2.00	2.00	\$50.00	
	0070	6181000		\$16,41	10.00	LS	0.00	0.00		1.00	1.00	\$16,410.00	
	0080	6274000		\$4,00	00.00	LS	0.00	0.00		1.00	1.00	\$4,000.00	
								Total Amount	of Items Pa	id this	Estimate -	\$235,124.00	I

Total Paid / All Items / All Estimates

Project No.	Category	Line No.	ltem Code	Description	Net Change Order	Bid Quantity	Unit	Quantity to Date	Unit Price	Amount Paid to Date
J5P3373	0001	0010	2035000		0.00	2495	CUYD	2,495.00	\$10.00	\$24,950.00
	0001	0020	2035500		0.00	188	CUYD	0.00	\$10.00	\$0.00
	0001	0030	2039901	MISC. HAUL ROAD	0.00	1	LS	0.75	\$17,096.00	\$12,822.00
	0001	0040	6119907	MISC. CLASS VI RIP RAP	0.00	2933	CUYD	2,933.00	\$60.00	\$175,980.00
	0001	0050	6161005		0.00	96	SQFT	96.00	\$9.50	\$912.00
	0001	0060	6161009		0.00	2	EA	2.00	\$25.00	\$50.00
	0001	0070	6181000		0.00	1	LS	1.00	\$16,410.00	\$16,410.00
	0001	0080	6274000		0.00	1	LS	1.00	\$4,000.00	\$4,000.00
	0001	0090	8061005		0.00	60	LF	0.00	\$20.00	\$0.00
	0001	0100	8061019		0.00	722	LF	160.00	\$2.00	\$320.00
	0001	0110	8069903	MISC. TURBIDITY CURTAIN	0.00	115	LF	115.00	\$40.00	\$4,600.00



Cor	ntract IE		Estimate Number	Pay Period Start			Pay Perio	od End		C	reated Date	Estimate Type	
90315-D	005		0001	See NTP Date	TP Date			September 30, 2019				Progress	
<u>he info</u>	rmatio	on belov	w this line is supplementa	I to the Estimate and	l is prov	vided fo	or confir	mation	of deta	il, locatio	on and quanti	ty of work.	
Project	Line No.	Item Code	Description	Location	DWR Date	User ID	Qty	Unit	From Station / LogMile	To Station / LogMile			
J5P3373	0010	2035000	5000 UNCLASSIFIED EXCAVATION	Slope Protection less Toe	9/24/19	rileyr1	1,003.00	CUYD					
				Bent 2	9/25/19	rileyr1	579.00	CUYD					
				Bents 3, 4, 5 and remainder of Slope Protection area from Bent 4 to Bent 6	9/30/19	rileyr1	913.00	CUYD					
	0030	2039901	MISC.	Right of Roadway and Bridge	9/23/19	rileyr1	0.75	LS					
	0040	6119907	MISC.	Slope Protection	9/24/19	rileyr1	101.00	CUYD					
				Bent 2 and Slope Protection from Bent 4 to Bent 6	9/25/19	rileyr1	991.00	CUYD					
				Slope Protection are LT of centerline	9/26/19	rileyr1	909.00	CUYD					
				Bents 3, 4, and 5. Remainder of the Slope Protection area from Bent 4 to 6.	9/30/19	rileyr1	932.00	CUYD					
	0050	6161005	CONSTRUCTION SIGNS	Portable Signs	9/23/19	rileyr1	96.00	SQFT					
	0060	6161009	FLAG ASSEMBLY	ROAD WORK AHEAD Signs	9/23/19	rileyr1	2.00	EA					
	0070	6181000	MOBILIZATION		9/23/19	rileyr1	0.25	LS					
				Project over 50% complete	9/30/19	rileyr1	0.75	LS					
	0080	6274000	CONTRACTOR FURNISHED SURVEYING AND STAKING		9/23/19	rileyr1	1.00	LS					